
 
IMPORTANT PROBLEMS IN PHYSICS FOR SSC MARCH – 2017 

 
1. 20oC40oC 


A.  (m1) = 50 gm   (T1) = 20oC 
 (m2) = 50 gm    (T2) = 40oC 

     (T) = ௠భ భ்ା௠మ మ்
௠భା௠మ

      

    = ହ଴௑ଶ଴ାହ଴௑ସ଴
ହ଴ାହ଴

 = ଵ଴଴଴ାଶ଴଴଴
ଵ଴଴

   = ଷ଴଴଴
ଵ଴଴

    = 30oC 
2.  
a) 100oC1gm100oC

b) 100oC1gm0oC

c)  0oC1gm 0oC


d)  100oC1gm 0oC


A. a) 100oC1gm100oC 
          
 (Q1) = mL  

= 1x540 = 540 cal 
         (L) = 540 cal/gm. 
    b) 100oC1gm0oC
          
          (Q2) = m.s.∆T  

= 1x1x100  
= 100 cal 

    c) 0oC1gm 0oC
 
          (Q3) = mL  

= 1x80 = 80 cal 
         (L) = 80 cal/gm. 
    d) 100oC1gm 0oC
 
          (Q) = Q1+ Q2+ Q3 

= 540+100+80 
                                           = 720 cal  

3. 20oC 
A.  toC   =  (t + 273)K 
     20oC  = (20 + 273)K = 293K 
4. 
1


A.        (u) = -10cm 

        (R) = -8cm 

              (f) = ோ
ଶ
 = − ଼

ଶ
 = -4cm 

        (v) = ? 

            : ଵ
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ଶ଴ି = ݒ																											
ଷ

 = - 6.6 cm () 
5.   



 
A. (u’ 
              (u) = -5m  

        (R) = 3m 

              (f) = ோ
ଶ
 = ଷ

ଶ
 = 1.5m 

        (v) = ? 

            : ଵ
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 + ଵ
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ଵହ
  

                  ଵ
௩
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ଵହ = ݒ																						
ଵଷ

 = 1.15 m  
     

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6.  1
1
 
A. (u’ 
   (u) = -10cm        (f) = 15cm 

       (R) = 2f = 30cm 

        (v) = ? 

            : ଵ
௨
 + ଵ

௩
 = ଵ

௙
 

																							ଵ
௩
 = ଵ

௙
 - ଵ

௨
 = ଵ

ଵହ
 - ଵ

ିଵ଴
 = ଵ଴ାଵହ

ଵହ଴
 = ଶହ

ଵହ଴
  

ଵହ଴ = ݒ																											
ଶହ

 = 6cm  
         
 

7. 
1
 
A.  (v1) =300000km/s 
       (v2) =124000km/s 

     n= ௩భ
௩మ

 

                                              = ଷ଴଴଴଴଴
ଵଶସ଴଴଴

 = 2.42 
8. 
 

A. ngw = ௡೒
௡ೢ

 = ଽ
଼
 

     nwg = ௡ೢ
௡೒

 = ଼
ଽ
 

9. 
 

A.    (n) = ସ
ଷ
 

                     (c) = ? 

             Sin C = ଵ
௡
  

             Sin C = ଷ
ସ
 = 0.75 = Sin 48o36I 

                C = 48o36I 
10. 0

A.  (n) = ? 
                        (c) = 42o 

            Sin C = ଵ
௡
  

                   n = ଵ
ୗ୧୬	େ

 = ଵ
ୗ୧୬	ସଶ

 = ଵ
଴.଺଺ଽଵ

 = 1.4945 

11. 
oo

A.  (i) :  (i) = 45o 
                   (r) = 30o 

                 (n) = ௌ௜௡	௜
ௌ௜௡	௥

   = ௌ௜௡	ସହ
ௌ௜௡	ଷ଴

 = 
భ
√మ
భ
మ

   

                                          = ଶ
√ଶ

 = √2 = 1.414 

12. 


A. 

     ‘u’ . 
           (f) = 20cm 
     (u) = -60cm 
     (v) = ? 

        : ଵ
௙
 = ଵ

௩
 - ଵ

௨
   

 ଵ
௩
 = ଵ

௙
 + ଵ

௨
 = ଵ

ଶ଴
 + ଵ

ି଺଴
 = ଵ

ଶ଴
 - ଵ

଺଴
 = ଺଴ିଶ଴

ଶ଴	௑	଺଴
 = ସ଴

ଵଶ଴଴
 

 ଵ
௩
 = ଵ

ଷ଴
   v = 30cm 

    C
F C

13. 
R


A. R1 = R2 = R  
                    (f) = R 

: 	ଵ
௙
  = (n -1)ቀ ଵ

ோభ
−	 ଵ

ோమ
ቁ 

    R1  R2  

              	ଵ
௙
  = (n -1)ቀ ଵ

ோభ
+ 	 ଵ

ோమ
ቁ 

              	ଵ
ோ
  = (n -1)ቀଵ

ோ
+ 	 ଵ

ோ
ቁ  

              	ଵ
ோ
  = (n -1)ቀଶ

ோ
ቁ 

              1  = 2n – 2  2n = 3  n = ଷ
ଶ
 = 1.5 

       (n) = 1.5 
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14. n=1.5 




 A. 
                                                  R1  R2  
                  R2  = 2R1 
                   (f) = 24cm 
      (n) = 1.5 

: 	ଵ
௙
  = (n -1)ቀ ଵ

ோభ
−	 ଵ

ோమ
ቁ 

    R1 , R2   

              	ଵ
௙
  = (n -1)ቀ ଵ

ோభ
−	 ଵ

ோమ
ቁ 

              	ଵ
ଶସ

  = (1.5 -1)ቀ ଵ
ோభ
−	 ଵ

ଶோభ
ቁ  

              	ଵ
ଶସ

  = (0.5)ቀଶିଵ
ଶோభ

ቁ  

              2R1 = 12  R1 = 6cm 
                                      R2 = 2R1 = 12cm 
        R1=6cm,R2=12cm 
15. 2D 

A.  (P) = 2D 

     :  P = ଵ଴଴
௙		(௜௡	௖௠௦)

 

                     f  = ଵ଴଴
௉

  = ଵ଴଴
ଶ

  = 50 cm 
     = 50 cm. 
16. 100W, 220V 60W, 220V 


A. : P  =  ௏
మ

ோ
  R  = ௏

మ

௉
 

     Case(i)  P = 100 W,   
                                        V = 220 V 

                                     R = ௏
మ

௉
  

                                               = ଶଶ଴	௑	ଶଶ଴
ଵ଴଴

  
                                               = 484 Ω 
     Case(ii) P = 60 W   

  V = 220 V 
                                     R  = ௏

మ

௉
  

                                                 = ଶଶ଴	௑	ଶଶ଴
଺଴

  
                                                 = 806.66 Ω 
      . 

17. B  A   
       
    
 
A.  A & B  
 

 
 

                        VBA   =  VBC    +   VCA 

                          VA  -  VB   =  +2  +  (1x5) 
                          VA  -  0     =  2  +  5 
                          VA   =  7 V 
18. 100000Ω. 12V 

  
A.                           (R) = 100000 Ω  
      (V) = 12 V 
        :   V  =  I R 

                               I  =  ௏
ோ
  = ଵଶ

ଵ଴଴଴଴଴
  = 12 x 10-5 A 

     12 x 10-5 Ampere 
19. 
W  
W, W 
12 

KWH 
  
A. =  

         
ĺాటÎȨ	௑	పĸ�కĸాల	సంఖŪ	௑	ĸĆǯక¡	ĺాĬే	గంటల¡

ଵ଴଴଴
 




 




 










 











 


KWH 

 40 3 5 ସ଴௑ଷ௑ହ
ଵ଴଴଴

   = 0.6 
 80 2 12 ଼଴௑ଶ௑ଵଶ

ଵ଴଴଴
 = 1.92 

 60 1 5 ଺଴௑ଵ௑ହ
ଵ଴଴଴

   = 0.3 
     = 0.6 +1.92 + 0.3   
                                                 = 2.82 KWH 
     30  = 30 X 2.82  
                                                     = 84.6 KWH 
     1 KWH = Rs. 3-00 
     = 84.6 X 3-00 = Rs. 253-80  

 

 
V=0 

B 5 Ω A 

 1A 2V 

 

 
V=0 

B 5 Ω A 

 1A 2V 

C 



 
20. 12 V  A  

A.       (I) = 2 A 
      (V) = 12 V  
     :            V  =  IR 

                                    R  =  ௏
ூ
 = ଵଶ

ଶ
 = 6 Ω 

                 (R) = 6 Ω 
21. 2 Ω, 4 Ω ,6 Ω 
 
A.     R1 = 2 Ω,  R2 = 4 Ω, R3 = 6 Ω 
      R  
      R = R1 + R2 + R3 = 2 + 4 + 6 = 12 Ω 
22. 2 Ω, 4 Ω ,6 Ω 
 
A.     R1 = 2 Ω,  R2 = 4 Ω, R3 = 6 Ω 
      R 

ଵ
ோ
 =    ଵ

ோభ
  +  ଵ

ோమ
  + ଵ

ோయ
 

ଵ
ோ
 =  ଵ

ଶ
 + ଵ

ସ
 + ଵ

଺
  

ଵ
ோ
 =  ଺ାଷାଶ

ଵଶ
 

ଵ
ோ
 =  ଵଵ

ଵଶ
 

R = ଵଶ
ଵଵ

 = 1.09 Ω 

23. 
2T. 1.5m2 
      
A.       B = 2T  
                        A = 1.5 m2 
     Φ = ?  

     : B = ∅
஺
   ∅ = BA = 2x1.5 =3 Weber 

24. 



 
A.  (F) = 8N  
    (݈) = 20cm = 20 x 10-2 m 
     (i)  = 40 A  
      (B) = ?  
     :  F = B i ݈ 

                  B = ி
௜	௟

  

                     = ଼
ସ଴	௑	ଶ଴	௑	ଵ଴షమ

  

                     = ଼	௑	ଵ଴
మ

଼଴଴
  

                     = ଼଴଴
଼଴଴

  
                     = 1 Tesla 
25. 0.6 T

8 V

A.                                        (v) = 20 m/s  
     (B) = 0.6 T  
                  (Ɛ) = 8 V 
                             (݈) = ? 
     :  Ɛ = B ݈ v 

                   ݈ = Ɛ
஻	௩

  

                     = ଼
଴.଺	௑	ଶ଴	

  

                     = ଼	
ଵଶ

  

                     = ଶ
ଷ
  

                     = 0.67 m 
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